
Minusrechnen (bis 100 000)

Aufgabe 1

1. 88 914 - 34 056 =   

2. 51 294 - 33 096 =   

3. 73 329 - 57 186 =   

4. 64 310 - 24 162 =   

5. 75 801 - 11 870 =   

6. 72 646 - 57 617 =   

7. 87 454 - 11 566 =   

8. 95 634 - 21 417 =   

9. 99 893 - 84 908 =   

10. 85 712 - 12 815 =   

Aufgabe 2

1. 69 242 - 69 230 =   

2. 71 806 - 67 124 =   

3. 50 713 - 26 661 =   

4. 82 677 - 52 199 =   

5. 47 292 - 20 425 =   

6. 81 196 - 61 864 =   

7. 61 882 - 54 959 =   

8. 62 631 - 16 929 =   

9. 73 360 - 71 987 =   

10. 93 328 - 56 392 =   

Aufgabe 3

1. 96 295 - 70 440 =   

2. 80 013 - 18 575 =   

3. 93 778 - 90 265 =   

4. 57 114 - 43 594 =   

5. 92 189 - 27 002 =   

6. 81 124 - 16 602 =   

7. 48 653 - 39 837 =   

8. 83 528 - 75 825 =   

9. 97 837 - 84 384 =   

10. 93 483 - 74 988 =   

Aufgabe 4

1. 56 238 - 13 994 =   

2. 99 857 - 63 112 =   

3. 87 031 - 51 347 =   

4. 97 458 - 34 035 =   

5. 91 502 - 34 068 =   

6. 97 461 - 35 050 =   

7. 95 921 - 67 001 =   

8. 55 161 - 45 642 =   

9. 69 025 - 17 983 =   

10. 69 895 - 34 639 =   
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Minusrechnen (bis 100 000)
| ANTWORTEN

Aufgabe 1

1. 88 914 - 34 056 =  54 858

2. 51 294 - 33 096 =  18 198

3. 73 329 - 57 186 =  16 143

4. 64 310 - 24 162 =  40 148

5. 75 801 - 11 870 =  63 931

6. 72 646 - 57 617 =  15 029

7. 87 454 - 11 566 =  75 888

8. 95 634 - 21 417 =  74 217

9. 99 893 - 84 908 =  14 985

10. 85 712 - 12 815 =  72 897

Aufgabe 2

1. 69 242 - 69 230 =  12

2. 71 806 - 67 124 =  4 682

3. 50 713 - 26 661 =  24 052

4. 82 677 - 52 199 =  30 478

5. 47 292 - 20 425 =  26 867

6. 81 196 - 61 864 =  19 332

7. 61 882 - 54 959 =  6 923

8. 62 631 - 16 929 =  45 702

9. 73 360 - 71 987 =  1 373

10. 93 328 - 56 392 =  36 936

Aufgabe 3

1. 96 295 - 70 440 =  25 855

2. 80 013 - 18 575 =  61 438

3. 93 778 - 90 265 =  3 513

4. 57 114 - 43 594 =  13 520

5. 92 189 - 27 002 =  65 187

6. 81 124 - 16 602 =  64 522

7. 48 653 - 39 837 =  8 816

8. 83 528 - 75 825 =  7 703

9. 97 837 - 84 384 =  13 453

10. 93 483 - 74 988 =  18 495

Aufgabe 4

1. 56 238 - 13 994 =  42 244

2. 99 857 - 63 112 =  36 745

3. 87 031 - 51 347 =  35 684

4. 97 458 - 34 035 =  63 423

5. 91 502 - 34 068 =  57 434

6. 97 461 - 35 050 =  62 411

7. 95 921 - 67 001 =  28 920

8. 55 161 - 45 642 =  9 519

9. 69 025 - 17 983 =  51 042

10. 69 895 - 34 639 =  35 256
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